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Find The Errors Questions for IBPS Clerk Pre & SBI Clerk Pre

Find the Errors Quiz 9

Directions: In the following question, some part of the sentence may have errors. Find
out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

1. President Barack Obama is getting increasingly (A) / isolation on the issue of (B) /
launching a limited (C) / attack on Syria. (D) / No error (E)

A. President Barack Obama is getting increasingly
B. isolation on the issue of

C. launching a limited

D. attack on Syria

E. No error

2. The international law of human rights now comprises of (A) / more than eighty
universal and regional conventions (B) / which have binding force (C) / for state
parties. (D) / No error (E)

A. The international law of human rights now comprises of
B. more than eighty universal and regional conventions

C. which have binding force

D. for state parties

E. No error

3. A 42-years old unidentified man was lynched (A) / in Kanpur by a mob (B) / which
accused him (C) / of a Pakistani terrorist. (D) / No error (E)

A. A 42-years old unidentified man was lynched
B. in Kanpur by a mob

C. which accused him

D. of a Pakistani terrorist



E. No error

4. In what could be good news (A) / for lakhs of tax payers (B) / the Income-Tax
Department will now process and send (C) / refunds in short time of 7-10 days. (D) /
No error (E)

A. In what could be good news

B. for lakhs of tax payers

C. the Income-Tax Department will now process and send
D. refunds in short time of 7-10 days

E. No error

5. Neither Raju is intelligent (A) / nor hardworking (B) / and still he expects (C) / a
handsome salary. (D) / No error (E)

A. Neither Raju is intelligent
B. nor hardworking

C. and still he expects

D. a handsome salary

E. No error

6. Annuity rates of insurers are based (A) / on the yields of long-term government
securities (B) / and rise or fall in line of (C) / interest rates in the economy. (D) / No
error (E)

A. Annuity rates of insurers are based

B. on the yields of long-term government securities
C. and rise or fall in line of

D. interest rates in the economy

E. No error

7. Police said the accused killed (A) / all the three persons to take (B) / revenge from
the son (C) / who had beaten him up. (D) / No error (E)

A. Police said the accused killed



B. all the three persons to take
C. revenge from the son

D. who had beaten him up

E. No error

8. Many a man (A) / were taken ill (B) / after consuming (C) / illicit liquor. (D) / No
error (E)

A. Many a man

B. were taken ill

C. after consuming
D. illicit liquor

E. No error

9. Vedic chronology based on astromical tools, (A) / which suggests Vedas were
composed (B) / not later than 6000 BC, should be included (C) / in school and college
curriculum. (D) / No error (E)

A. Vedic chronology based on astromical tools
B. which suggests Vedas were composed

C. not later than 6000 BC, should be included
D. in school and college curriculum

E. No error

10. The price of edible items (A) / in all the states (B) / of the advanced countries are
(C) / increasing these days. (D) / No error (E)

A. The price of edible items

B. in all the states

C. of the advanced countries are
D. increasing these days

E. No error



Correct Answers:

2/3/4|5/6|7]8|9]10

A|/D|D|A|C|C|B|B|A

Explanations:

1.

Replace ‘isolation’ with ‘isolated’.
Hence, option B is correct.

2'
Replace ‘comprises of’ with ‘comprises’.
Hence, option A is correct.

3.

Insert ‘being’ after ‘of’.
Hence, option D is correct.

a.

Insert ‘a’ after ‘in’.
Hence, option D is correct.

5.

Substitute ‘Raju is neither intelligent’.
Hence, option A is correct.

6l
Replace ‘of” with ‘with’.
Hence, option C is correct.

7.
Replace ‘from’ with ‘on’.



Hence, option Cis correct.

8l
Replace ‘were’ with ‘was’.
Hence, option B is correct.

9.

Insert ‘the’ before ‘Vedas'.
Hence, option B is correct.

10.
Replace ‘price’ with ‘prices’.
Hence, option A is correct.



I
N a7
—'— SmartKeeda
= The Question Bank A ﬁ
J¥Jd dd © \@§>
TestZone i
TRA I a9 fPHRA e AR

G

12 Month Plan
2017-18 All Test Series

3399/-

300+ |l ol S

¥ A fageryor
¥ Icpee fawg arl

@_EJI'@IIT

3aft s

|


https://testzone.smartkeeda.com/Test/Pricing

